
 

 

Total entries of students and staff in a year = 

X =1581+1543+20223=23347 

No. of working days = 

Y =244 

Per day usage = X/Y = Z 

23347/244=95.68 

Percentage per day usage = 

Z/students & staff X100 

95.68/2496X100=3.83 

 

 

Academic 

Year 

Total No. of 

staff and 

students 

visited 

Library 
(a) 

Total No. of 

Library 

working 

days 

(b) 

Per day 

usage of 

Library 

(d=a/b) 

Total No. of 

staff and 

students 

(c) 

Percentage 

of Per day 

Usage of 

Library 

%=d/c*100 

2022-2023 23347 244 95.68 2496 3.83 
 

 

 

 


